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Physics 3204
Kinematics Review
1. An airplane starts from rest and takes off at 125 km/h 32.0 s later.  What minimum length of runway is required?

2. Another plane is traveling 11 km/h as it enters a runway.  If this plane maintains an acceleration of 1.50 m/s2 and requires 1.12 km to take off, determine the time required to take off.

3. Sir Isaac Newton stands under an 8.5 m tall apple tree.  A number of apples are ripe and read to fall.

a. How long would it take an apple to hit the ground?

b. With what speed does it hit the ground?

c. Newton sees the apple fly past his eyes on the way down.  If Newton sees the apple at 1.7 m, what fraction of time had then elapsed?
4. Two water balloons are simultaneously thrown at 1.3 m/s over the edge of a 26 m tall building.  One balloon is thrown upwards while the other is thrown downwards.  How much time passes before the second splash is heard? 

